Bellwork Hon Alg2  Tuesday, March 7, 2017

1. A line in the xy-plane passes through the origin and has a slope of % Which of the following points

lies on the line?

A) (0,7) B) (1,7) C) (7,7) D) (14,2) E) None of these

2. In aright triangle, one angle measures x°, where sinx = % What is cos(90° —x°)?

Simplify each. Write your answers so that no exponents are zero or negative.

-2.,,5,~6 45 \ 2
S + (1356) o QPP

Belwork HonAlg2  Tuesday, March 7, 2017 [ Ansoees |

1. Aline in the xy-plane passes through the origin and has a slope of % Which of the following points
lies on the line? THIS 1S DIRECT YARIATION

A) (0,7) B) (1,7) C) (7,7) E) None of these
X _ L G=_1L
X T AN
2. In aright triangle, one angle measures x°, where sinx = % What is cos(90° —x°)?
SoHcAHTOA

Smx=%: apy ey

ADT LEG
Z (0s (%0 -x) = “hgE —i:—

Simplify each. Write your answers so that no exponents are zero or negative.
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